Spare parts list for after market.

SHIMANO®

SHIMANO C-SERIES Revo-Shift Lever

SB-C055A

For Left Hand

SB-C055A-7
SB-C055A-8

For Right Hand

. ITEM SHIMANO
QTY | 'NO. CODE NO. DESCRIPTION

Y-6GY 98010 R.H. Cover & Fixing Screws (M3 x 5) for 2-Finger

1 Y-6GY 98030 L.H. Cover & Fixing Screws (M3 x 5) for 2-Finger
Y-6GY 98050 R.H. Cover & Fixing Screws (M3 x 5) for 4-Finger
Y-6GY 98070 L.H. Cover & Fixing Screws (M3 x 5) for 4-Finger

2 Y-8TS 98030 Brake Cable Adjusting Bolt & Nut

3 Y-66T 98020 Cable Adjusting Bolt Unit

4 Y-8ST 98010 Reach Adjusting Screw (M4 x 14.5) & Spring

5 Y-6A7 80100 Clamp Bolt (M6 x 16)

6 Y-8TS 98010 R.H. Adjustment Block & Screw for 4-Finger
Y-8TS 98020 L.H. Adjustment Block & Screw for 4-Finger

IL/SB Printed in Japan 0207-2164



